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OLEE AX2IAY 258,000, 0002 258,000




A BHEAD
M D22T L HFH(MA=X/ES)
cel: D=3 (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
202 04 Hl 584 1,880 A 1,296
01 2U0ddl 584 1,880 A1,29
OLES UX2IAIY A2=X 584,000 584
206 M 2H] 25,000 25,000 0
01 XH2H] 25,000 25,000 0
OL=E UXelALY ARFZE W2
25,000,000 25,000
AR EI LS HALS 224,000 0 224,000
= 219,400
[~ 4,600
201 L2 AH 9,000 0 9,000
= 9,000
01 At 224 9,000 0 9,000
O2HIBZ ALY 9,000
—ABIED|IQ SAAIY 2%Hl  9,000,0008 9,000
= 9,000
202 O4H| 2,000 0 2,000
= 2,000
01 2U0d bl 2,000 0 2,000
O2HIBZ ALY 2,000
— A=Y SHAIY 2=
2,000,0002 2,000
= 2,000
307 g12+0| & 213,000 0 213,000
= 208,400
[= 4,600
02 BI2tH AP X 213,000 0 213,000
O2HIBZ ALY 213,000
— MBI ED|Y LRE EHEAY
190,000,000 190,000
= 190,000
—AEI D AFZONEHl 22 ALY
23,000,000 23,000
= 18,400
[= 4,600
NS g SR (Ut /UL ) 547,001 488,470 58,531
szgI2xel 547,001 488,470 58,531
RS AR 2 el 516,977 459,562 57,415
201 L2 AH 317,840 304,400 13,440
01 At 224 4,400 24,400 220,000
@RI E=1.] 2,000
—JI2EL2R Y2 U =G 7o
250,000 »2H 500
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X{ ZH -
S Tt
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ARE A
Neige SR (YBBHY /Lo
EREIEPIE

SNBSS - MBAY - BES 0l & 2 e {imE=Eh
—JI28 S MH 10,0003 » 10090 & 1,000
— 120842812 HSPY 41,6602 x128 500
O=gHl 2,400,000& 2,400
02 3244 313,440 280,000 33,440
OZ2Z223LAA 313,440
-8 &®IIZ(4,986S)
26,120,000 123 313,440
202 o4 Hl 6,912 6,912 0
01 SLHAObI 4,752 4,752 0
OJt2s X & 22 RF=8 4,752,000 4,752
02 A0l 2,160 2,160 0
o228 (1Y) 2,160,000& 2,160
206 M =4l 88,725 78,750 9,975
01 =4 88,725 78,750 9,975
oJzs sAZel 88,725
—otE DI 30,000& *500H 15,000
— S &8XED] 20,000 & *500H 10,000
— &R (LESE) 30, 000& *500H 15,000
—HR(HIHY) 30,0002 5004 15,000
—HALX 15,000 #5004 7,500
—AsEE 80, 000& x200 4 16,000
—HA(SIH) 40,000& = 1504 6,000
—JIEFAHM 84,500,000& *5/100 4,225
401 AIEHIZL 20 Y| 103,500 69,500 34,000
01 A& H] 103,500 69,500 34,000
sSENHZS A £X 1,000,000& * 1691 2 16,000
Ok= .98 JI2& 04 1,000,000 307 & 30,000
OBNNE =Xy IH2S |
200, 0003 *1007H 2 20,000
O=%.918 J}2s S= A
1,000, 000& 2074 2 20,000
OZAINZS SHM2 B2 2 DA
150,000 *500H £ 7,500
O4Je SaHY 2SS &X
1,250,000 x84 £ 10,000
HESH QIR 30,024 28,908 1,116
101 el Hl 23,024 21,908 1,116
04 D122 RS2+ 23,024 21,908 1,116
OJI2s AtZ2tel HEEZ Ry 23,024
—Jl2s 53,3903 x2H 160 17,085
—F=5d=d 53,3903 x2H +322 3,417
—4UEE= 20,502,000 *12. 3% 2,522
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K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
206 M= H| 7,000 7,000 0
01 =4l 7,000 7,000 0
O120KH 2 SAH 2L X 2
350, 000& *20 Al CH 7,000
HYSHHAH (B MSAD)(IIEH/IIE 25,780 27,400 A 1,620
JlE23Hl 25,780 27,400 A 1,620
J|22& | 25,780 27,400 A 1,620
201 Let2HH| 10,180 11,200 A 1,020
01 AtR2t2|dl 10,180 11,200 A 1,020
Ot 10, 180,000 10,180
202 o4 4| 11,400 12,000 A 600
01 2o I 11,400 12,000 A 600
OSHSAAH, MOIL, 438 B4 =)
11,400,000 11,400
203 R F=Z&H| 4,200 4,200 0
04 EA2ELRF=EH| 4,200 4,200 0
ORNSIHERFAY| 4,200,000& 4,200
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